





• **DISPARI**: $\forall x \in D \quad f(x) = -f(-x)$

PARI: $\forall x \in D \quad f(x) = f(-x)$

$$y = \underline{x^6 - x^4 - 3x^2}$$

$$\begin{aligned} f(-x) &= (-x)^6 - (-x)^4 - 3(-x)^2 = \\ &= \underline{x^6 - x^4 - 3x^2} = f(x) \quad \underline{\text{PARI}} \end{aligned}$$

$$y = \cancel{2} 2x^3 - 5x \quad \underline{\text{DISPARI}} \quad \bullet - f(x)$$

$$f(-x) = 2(-x)^3 - 5(-x) = -2x^3 + 5x = -(2x^3 - 5x)$$

$$y = x^4 - x^3 + x - 1$$

$$\begin{aligned} f(-x) &= (-x)^4 - (-x)^3 + (-x) - 1 \\ &= x^4 + x^3 - x - 1 \end{aligned}$$

Ne' PARI Ne' DISPARI